Math 206 - Quiz 5 Name <€5
March 21, 2018 : ' Score

Show all work to receive full credit. Supply explanations when necessary.

1. (4 points) The depths (in inches) at which 10 artifacts were found at an archaeological
dig are lrsted below. '

prm—

0.7 248 30.5 262 36.0 343 30.3 295 27.0 \3”./

(a) Find the range of the data set.

Mo RAMSa-;: 38.6-30.7 = (17 8,};
Max = 38.95

(b) Use your calculator to compute the standard deviation.
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(c) Compute the CV (coefficient of variation).

X=299.78 5\ 0. 1736 7% /
CV = 99.78 L‘ """"""" :

(d) Do you think the standard deviation you computed above is big or small? Explain.
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2. (1 point) You are applying for jobs at two companies. Company A offers starting
" salaries with Z = $31,000 and s = $1000. Company B offers starting salaries with Z =
$31,000 and s = $5000. From which company are you more likely to get an offer of
$33,000 or more? Explain why you think so.
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